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listi=Ia,'c,'d,'h,'¢lct= | A EElist1=Ia,'h,'¢c,'d,'¢1Z S 2A 2.
list2 =I'This','Is', 'a’, 'hook.'12t = 2| A E = changelt = 2+~ At =0l A change =
Thisisabookcl= 2 XNES CH=H BEANRAZ NS 0A ALE S Joine =2
2Z EMR]

tuple1=01,23,41ct= S 20 9ct= st = FItoi M (1,2,3,4,91 4 & 2= O

M K.

dic1={"A"90,'B":80,'C"70, 'D":60, 'F:50} 0l Al ‘D0l SH & =l = 2t = ==l gt 2(dicl)
off &K &l = gt2ic2)0fl 2 2H= 0 2 M K.
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money = True

i f money:
print('E

else:
print(’

SHAIZ EtD Ot




H] 1L A AFA}

- x<y:xJtyEL &0

- x>y:xJty2CH ILhH

- x==y:x%tyJt &Lt

- xl=y:x2tyIt &KX &Lt

- x>=y:xJty2Ct ALt 2L
- X <=y :xJtyE2ECH &ALE 2L

In [5]: money = 2000
if money >= 3000:
print('E4AIZ EFD 2F24H)

else:
print('ZH22H)

2022t




And, Or, Not

- xory:x%ty ==0 otLtEt 20| H & 0| L.
- xandy:x%2ty 25 &0/ OF #O0|LCt.
- notx:xJt HAXO|IH &O0|LCH.

© money = 2000
card = True
if money >= 3000 or card:
print('&1AIE EID 2821H)

else:
print(’

EHAIE EtD 2R2F




1n, not 1n

-

- Xins(2lAE, 5Z, X E) s 2H0Hl xIt UL
- xnotins(ClAE, =, = AE) s QH0ll xIt SLCH



1n, not 1n

I in [1,2,3]

True

1 not in [1,2,3]

False

‘a’ in 'python'

False

In [5]: pocket = ['paper', 'cellphone', 'money']
if 'money' in pocket:
print(’
else:
print('Z0




In [B]: pocket = ['paper', 'money', 'cellphone']
if 'money' in pocket:
pass
else:
print('2ISE MLH2H)




pocket = ['paper', 'handphone']
card = True
if ‘'money’ in pocket:
print('SHAIE EFD2R2H)
else:
if card:
print("SHAIZ EtD2RE)
else:
print('Z2H22H)

EHAIE EtDOR2t

pocket = ['paper', 'cellphone']
card = True
if 'money' in pocket:
print('EHAIZ EFD2R2H)
elif card:
print('EHAIZ EFD2I2H)
else:
print('Z20H2k2H)

EHAIE EtDORt




In [9]: if "money' in pocket:
pass

orint('3l=2 MMUiaH)

I=E MLt

In [10]: if 'money' in pocket: pass
else: print('t=E HLH2H)

t=E Mliet




score = G0
if score >= B0:
message = 'suUccess'
else:
message = 'failure'

nessage = ‘success' if score >= 60 else 'failure'




pug

g0 2550/ &4 0] ctE

= ALE
MEAZFH gis B2

0.

B
input

20=

S
[

a.

e
11O

I0F

2.



0]
=
Ul
oJ
i
<F
00
J|J
o)

=

010

e A

input



2+
BA

A2
fruit - [ll/\l_ﬂl_"’ MEE"' "

1o
ol
Ll

AI n]

=
(=)

b= AFE

S
=)

input



1. AF2XIOF 218t 240 fruit S A 2l 3l (key) 2!
“EHEALICE”, OLI®H “@ERILICE"S 2286l 2.
a. fruit={"2":"8J"“6HS" . "E0I&E", “JtS": “At1t"}
b. input & AIE

2. ANZEXOF st g0l fruit & AU 2l gt (Value)Oll 2& & ACHH

SALICH”, OlLIYH “@EJLILCL"E =2 6IMH 2.
fruit={"8":“CJ|", "0 S":"E0IE", “JtS" : “At 1}"}
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input & AIS
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